Integral - Review for Test #1 November 17, 2015

Homework for Test #1

e 39#5,9;11-19 odd; 45, 49
4.1 #5-33 odd; 55-61 odd; 67, 83

4.2 #7-190dd; 27-370dd; 41,43,47,53
4.3 #7,17,37,43,45
4.4 #13, 15, 23, 31

Test #1 - Wed, 11/18

4.3
eao &)
o b b
J [:c@ﬂjo‘x 15 F(x §x +j 23X
L 4 - g
\j\m v




Integral - Review for Test #1 November 17, 2015

£109= 3 ~6x +C))
3 =3(2) -6 +C,
S-lzt2 =

?(x) = )(,3-'3>g2_'l‘57x +Co
=2 -3() +3() +Ca
I-§+12~{ =C,

-l =C=
e 5 (c; +9)A% [2,%]

IAf+0 =,

_ o,
- ja(xﬁbs) Ix



Integral - Review for Test #1 November 17, 2015

2 a:l b_3 b"o\ 3___‘ _-_ <.
J (Z)('P S) 01/\ AN g T non
U‘W

‘;—— ‘nu
- )\”\ 2+ 45 _E__&—\U
Y. f\——,—"(( & ) X +5x1
e T @) R o) (149
] n Rl 4- :
e ZGeR)
o (1 3
Nee < ot =
0=, n
= b A
n-::o< Z] + FC'/
(“'J L=

1S
2. 1/ 22 a




Integral - Review for Test #1 November 17, 2015

v/
32 .
j‘ (2{: + Co\s‘Z',B &'t

-
/2 D VSR

= 'tl-l—s.lﬂt 1o

- @S{a—sx,\g _—@‘{za— 61‘0(""7’:))
)

\
43 5:-?0‘?le -t SD-F' (Dx

\ |
ﬂ-ﬂ. . Gl 'F( )d = O =
@ ) s-0 s Sf(")‘}" = SPeN45= 0

@ J " 6ex ©§'3%wx =3.0 = O

(4\&‘)3 W = 3.5 =5

C _ b < b A
-ya._ja4jjo \L“\J;

(8 Seax-§ $ D3
° -\
N \ - _
5 - (:’6> CQ>S‘Q(>(3&X: /S ‘Fé‘ﬁ)b)( - l'é
(v)

-—
—



Integral - Review for Test #1 November 17, 2015

4.4  find qrea of regron ba""&eal’j

Mo

42 . \(j:l*%-( ) X=0,%x=% )\‘j O 7(

¥ ™y S‘(|+\f>3/<
T \ =X+ 2X+/3 %
! \\\\ _y=o 0
0 3 , )+ ¥
= X+;+x \o

43 Calculate Msmé [imid def.
b. §5x dx

"~ Moo v= | \/V\,
. o+ 22y,
Y\9<>oQ (l“"h’ .\_4—,":

n n+

= Iim | ¢ A4 — . el I
NSco FZ\¢F\’ZZb e

= b (b 24 nL2+) " n(nHZIZ"f)

n

= L +12 3 :




Integral - Review for Test #1 November 17, 2015

4.2
i <_2¢_ (&
10. nl;’;oLZ_’ )| =
A
lim %
n-—>co nz_Z_u




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

